Table 5
OCME

Eye movement

type Parameters MO : patients vs controls M3 : patients vs controls M9 : patients vs controls
. -0.11 [-0.13 ; -0.08] _ 0.01 [-0.01 ; 0.02] _ 0.03 [0.01 ; 0.05] _
Gain p<.0001 F=138.12 p=0.3 F=1.08 p=0.002 F=10.59
21.92 [6.98 ; 36.87] _ -12.85[-24.90; -0.79] | __ -16.81 [-31.17 ; -2.45] | __
Far saccade Latency (ms) p=0.002 F=12.34 0=0.04 F=4.36 p=0.02 F=6.89
Velocity (°/sec) 4.3 [;)126%%;1'36'40] F=s2.54 | 4713 [;;ilbz)loiez'%] F=40.18 | 228 [;)106%%;1'35'66] F=47.51
. -0.23 [-0.26 ; -0.20] _ -0.07 [-0.09 ; -0.04] _ -0.02 [-0.04 ; 0.00] _
Gain p<.0001 F=322.95 p<.0001 F=30.26 p=0.1 F=2.66
Near saccade | Latency (ms) | |00 [':':5002;120'45] F=157 2681 [;06%50;1'12'77] F=1832 [ 3417 [;96%20;1'18'72] F=28.03
Velocity (°/sec) L6z [5146%70;1'49'16] F=58.28 | 0591 [p-)i‘lblo%;l-‘w'%] F=50.1 | 8823 [")i%%%;l'%'gz] F=51.06
. -0.27 [-0.31 ; -0.23] _ -0.03 [-0.07 ; 0.00] _ -0.03[-0.05;0.00] | __
Gain p<.0001 F=262.72 p=0.10 F=3.82 p=0.09 F=2.81
36.69 [22.65 ; 50.72] 4.56 [-6.81 ; 15.94] 7.41[-7.33;22.15]
Convergence = = =
g Latency (ms) p<.0001 F=39.15 0=0.43 F=0.62 p=0.52 F=1.27
S -2.25 [-3.66 ; -0.83] _ 2.83[1.22 ; 4.45] _ 2.28[0.78 ; 3.77] _
Velocity (°/sec) p=0.002 F=9.66 p<.0001 F=17.64 p=0.001 F=11.57
. -0.27 [-0.31 ; -0.23] _ -0.03 [-0.06 ; -0.00] _ -0.03 [-0.06 ; 0.00] _
Gain p<.0001 F=302.79 0=0.05 F=4.00 p=0.06 F=4.62
. 40.59 [24.06 ; 57.13] _ -1.05 [-13.64 ; 11.54] _ -15.90 [-30.81 ; -0.99] |
Divergence Latency (ms) p<.0001 F=34.53 p=0.87 F=0.03 p=0.03 F=5.71
R, -4.31[-5.92 ; -2.70] _ 0.57 [-0.95 ; 2.09] _ -0.19 [-1.49; 1.11] _
Velocity (°/sec) p<.0001 F=40.99 0=0.81 F=0.70 p=0.78 F=0.08
. . -0.28 [-0.31 ; -0.25] _ -0.06 [-0.09 ; -0.03] _ -0.03 [-0.06 ; -0.01] _
Coﬁqapc(;::edrl]: o Gain p<.0001 F=530.21 p<.0001 F=25.47 p=0.009 F=6.96
combined Latency (ms) 62.00 [44.42 ; 79.58] F=71.29 21.86 [1.64 ; 36.08] F=9.08 25.91 [éi.65 ; 43.16] F=11.32
saccade+converge p<.0001 p=0.003 p=0.002
. -64.45 [-86.73 ; -42.17] -61.76 [-79.97 ; -43.55] -66.35 [-87.96 ; -44.74]
nce ° = = =
Velocity (°/sec) p<.0001 F=47.97 p<.0001 F=44.18 p<.0001 F=47.35
Saccadic Gain -0.17 [-0.20 ; -0.14] F=164.9 0.01 [—(101 ; 0.04] F=136 0.02 [—0_.00 ; 0.05] F=337
component of p<.0001 p=0.24 p=0.13
combined Latency (ms) 62.28 [45.80 ; 78.76] F-81.89 10.95 [—%32 ; 24.23] F=261 11.41 [—{.24 ; 27.05] F=2 67
saccade+divergen p<.0001 p=0.11 p=0.21
. -80.25 [-100.34 ; - -71.07 [-89.61 ; -52.52] -69.88 [-86.82 ; -52.94]
ce ° = S =
Velocity (°/sec) 60.15] p<.0001 F=91.36 p<.0001 F=73.79 p<.0001 F=65.36
) -0.24[-0.27 ; -0.20] _ -0.04 [-0.07 ; -0.01] _ -0.02[-0.04;001] | __
C(;;r;)\ger:’egﬁp(t)f Gain p<.0001 F=258.69 p=0.008 F=8.48 p=0.27 F=1.24
combined Latency (ms) 55.21 [37.47 ; 72.95] F-5551 12.87 [—{95 ; 27.69] F=29 21.28 [3_.26 ; 39.30] F=7.00
convergence+sacc p<.0001 p=0.09 p=0.02
ade S -0.90 [-3.48 ; 1.68] = 1.23[-1.65; 4.11] _ 2.47[-0.79;5.72] _
Velocity (°/sec) b=05 F=0.46 0=0.68 F=0.92 p=0.21 F=3.3
Divergent Gain -0.23[-026;-020] | _oo | 001 [-(102 10.03] | c_ggq | 000 [-(1.02 10.02] | koo 03
component of p<.0001 p=1.00 p=0.86
combined Lat 47.30[29.32;6527] | __.,, | 8.18[:8.43;2478] | __ ., | -190[-17.00:1320] | __,
divergence+sacca atency (ms) p<.0001 ' p=0.54 p=0.81
de S -2.66 [-4.73 ; -0.58] = 2.60 [0.59 ; 4.60] - 3.95[1.33; 6.57] -
Velocity (°/sec) p=0.009 F=8.26 p=0.01 F=6.44 p=0.001 F=13.03




